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Generat Instructions :

Use of calculator is not permitted.
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(iv) mwvﬁwmmﬁmﬂamhmmmm
e ¥ |

Question Nos. 7 1o 10 are very short answer type questions.

Vach question carries 3 marks.

(V) W SRR 11 R 14 0 aeaid Wi ¥ | s e o sl
T ¥ \ vl W W 4 i armifea

Question Nos. 11 to 14 are short answer type questions. Each

question has an internal choice, Fach question carries 4 marks.

(vi) W SOk 15 T 16 TEEE Yo ¥ | 7oken W A Srfafi faen
R\ W W W 5 3 e ¥

Question Nos, 15 and 16 are short answer type questions. Each

question has an internal choice, Each question carries 5 marks.

(vil) W T 17 T 18 Srefata w ¥ | e W & e fae
¥ R T W 6 3 amfen ¥

Question Nos. 17 and 18 are long answer type questions, Each

question has an internal choice. Each question carrics 6 marks,

W1 (e T foren e fafiag
' (Part-A) Choose and write the correct option
() WPE)= x*+3x+2 A, APG)F AR ; [
(3 o |
@9

(F) 18

(D 2{1

If P(x)= x2+3x+2 then the valueofP(3} will be

Aa) 3

& 9
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[3]
i) @ wefteeor x?~ 20+ 1 =0 ¥ fafarrart 1 9 90 {11
(a0
(M 1
(9 2
(2) -2

The value of discriminant of quadratic equation x*~2x + 1 =0 will be :
(@) O
h 1
(€} 2
(d) -2
(iiiy o (3, -5) Toru agaty & € ? [1]
(37) wuu Sguiw
(%) fadra wgara
() i =gat
(3) =qd =gata
Point (3, —5) lies in which quadrant?
(a) First quadrant
(b) Second quadrant
(¢) Third quadrant
(d) Fourth quadrant

(i)  c0s30° x sec30° & WA B : [1]
(an 1
() 2

S s
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The value of cos 30° x se¢30° will be -
(a) 1

by 2

(c) 3

@ 3

(v) 23 e 3,000 & T 8T S9HT 3% F Y [1]
(37) 900 °%.
(&) 90
() 300%.
(3) 30%.

What will be education cess at the rate of 3% if taxable income is
Rs. 3,000 7

(@) Rs. 900
(b) Rs.90
(¢) Rs.300
(d Rs.30
uyH-1  (@ue-a) o s w1 gid S
(Part-B) Fill in the blanks :
0] (ﬁ+1)aﬂt(ﬁ—l)mmw g [1]
The arithmetic mean of (JE + lJ and (JZ_ - 1] is )
'.;(f_f) 4,7, 8 a1 srgufadt ‘ ;.%I o [1]
. Thc fourth pmportional of4, 7,8is ‘ - |

(m) qaﬁzmiaz”rﬁa? emw

5 Thu Iongcst chord of a circle i is. "

Ty L
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() Sin(90° - 63%) F WA Fa kS - (1]
The value of sin{90" - 63°) is
) 2 o domel T S ®aE BB {1}
The sum of two odd numbers is always
TF-1  (WUE-N) 9 Jug oW fatay [1x5=3]
(Part-C) Write true or false :
() B = IEET ' R
Squares of all sizes are similar.
(i) @ fag ¥ TRuE (L) T B
The coordinates of origin are (x, v).
(iff) T T A A 35 T 3§

. T o
The volume of sphere with unit radius 1s 37 cubic unit.

(iv) %1 % T Ees & {@¢ PAN &1 391 5ad §
To open an account in a bank PAN is must.
() 3 IgS F T F0 -, 1 GeqE S0 60° Ehm
If all the angles of quadrilateral are equal, then 60° is the measure of

each angle. http://www.cgboardonline.com

(1] : 350
gva-2 WA SEFfeg. 989, sind
' sin35°  cos35°

cos35°  sin35°
sin35°  cos55°

Find the value of :

fﬁﬁ—s ’-‘nfa (3 +x): (5+x): (8 +x) &, T x F WA Fd FTC!

o 1f(3 +x) . (5 + x} : (_8_-_1-_'.\-), then find the value of x.
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[6]

3.8~5x+2:0é7aﬁimu‘quﬁmamaﬁﬁqr (2]
Find the sum and product of the roots of

3 -5x+2=0
W T W HemeH  shew T wif (2]
Find the average of first ten natural numbers.
2(2, 5) % 4w forg @ 5t 7 e 2]

Calculate the distance of point (2, 5) from the origin.

faza?rmq%(4x3+3x2+zx-9m‘r(x— 1) & 9 1 R I%d
B [3]

Prove that on dividing (4x® + 3x2 + 2¢ - 9) by (x - 1) the remainder

1 zero.

& T 957 - 3x — 2 = 0 1 7@ Ffw [3]

Solve the quadratic equation 9x? - 3x -2 = (.

mmﬁwmmwﬁWaﬁmﬁmmewwm%f [3]

Prove that the sum of three consecutive even numbers is always a

multiple of 6.

o T e S ST 9 8 200, % 1 o e ) S 10 4 2,
il 9T 1 AT F B [3]

The circumference of the base of a right circular cylinder is 88 cm. If the

height of the cylinder is 10 cm, find the volume of the cylinder.

2 %t ﬁmmﬁﬁmmaﬁﬁwmwmwmwraﬁwﬁf'_
foroa 91 HIfIQ 1 no e . | [4]

. A big sphere is made by meltmg down 64 small spheres each of radius

¢*2 em. F lnd radms of the big spherc
http://www. cgboardonlme com
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arerar
OR

i s i 35 T 1 A 12 S, e e 8 L B, WA W TR

3R 3 TG S |

If diameter of the base of a cone is 12 cm and its height is § cm, then find

the total surface area and volume of the cone.

wga-12 91 |Roil &1 Wi 31 S : 4]

am=x | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

amgfa 1 12 24 32 10 5

Find the median of the following table :

Class Interval | o-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

Frequency 1 12 24 32 10 5
arerar
OR

ant=t | o0-10 | 10-20 | 20-30 | 3040 | 40-50 | 50-60
arrgfa 4 5 16 12 3

Find the mode of the following table :

3

Class Interval | o_10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

=)

Frequency 4 5 16 12 3

w1 mmﬁ—“.@amwﬁgaﬁwmaﬂMéi .

R 5w €1 | {41
o Pl”We that “In a nght-angled lnangle, the square of the hypotenuse is
ccmal to > the sum oﬁhc squarcs of the other two sides.”
PTO.
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T
OR

T g F1 o 20 k. $ 1 3 e SR g Siansl ¥ ara F gl 24 9.
€ ) o it o 3 i

The radius of a circle is 20 cm. The distance between two equal and parallel

chords is 24 cm. Find the length of chord.

I W @1 1 GHI I ST forgent yavra % tamyafag (6.0) 3
BIHT R R 1

Find the equation of that straight line which passes through the point (6., 0)

and whose slope is %

3rerar

OR
T S 3 37 ME A 5 wftex T wieaman ot A F w9 gu e # '
= I 2 3 4
A GO RA FHamEm (oiewd )| 4 3 2 1 0

a%gq@aaﬁnmmﬁﬁaﬁﬁm%nwm@ﬁm

L¥ [

A man filled 5 liters of petrol in the fuel tank of his vehicle. The -table

below shows the five days and the petrol remaining on those days - _

Day - 1 2 3 4 5

Quantity of petrol remaining (in liter) 4 3 2 I 0

Draw a graph between the petrol remaining and number of days.

a@ﬂn%ﬁmaﬁvmaﬁ'a?ffzooawﬁfqﬁﬁmésaﬁﬁmmaﬁw

B ?

T e | 3fE A 6% e &, T 5 o Tva I e TR
i

(4]

Vasim opened a recurring deposit account in Punjab National Bank. He

deposits Rs. 200 per month for 5 years. If rate of interest is 6% per annum,

' ﬁ_nd the amount he will receive at the time of maturity.
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srerar
OR

fiedtn = 20132014 1 WH YRPER R 41 T A A7 3,60,000 % 2if
T 20,000 T, S i wliend w1 s difeam a4 4,000 %, AAHE HEE
sifeen fafts 4 st o % 1 af Aol ATl W0 7 T Afa T 1,00,000 %
2, @ ¥ sippmt A Fafa)

SAH H 27 FrAran ¥

. HT ATy dron AATHT Tl G
I 12,00,000%, 7% FTE ATTHRL T
2. [2,00001% % 5,00,000% 7% 10%

3. 5,00,001 € 7 10,00,000%. T 20%

T AfafeR, &4 AmE 1 3% fad TR @ 7

The income of a government employee in financial year 2013-2014 was
Rs. 3,60,000. He deposited Rs. 20,000 as yearly premium on life insurance
policy and Rs. 4,000 every month in General Provident Fund. 1f a maximum
of Rs. 1,00,000 can be invested in any type of saving to qualify for tax

rebate, then calculate the payable income tax.,

The rates of tax are as follows :

Sk No. Tax Limits - Rate of
Tax
1. | Up to Rs. 2,00,000 NIL
2. |Rs. 2,00,001 to Rs. 5,00,000 10%
3. {Rs. 5,00,001 1o Rs. 10,00,000 20%

tax.

In addition, a.3% cducation cess has to be paid over the income
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W-16 TR B POR # T Aifr m @ w s ABC ® T A

fored .48;:-:‘%1‘{} w [5] -

Construct a triangle PQR. Construct another triangle ABC along with it in

o
such that 48 = %PQ.

HYaT
OR
BN ABC ¥ oW g9 # o0 S, fed AB = 6 W, L4 = 45°,
ZB=60° 1T ¥ R W fafau!
Construct a circumcircle of A4BC, where 4B =6 cm, LA =45°, £B=60°.
Write the steps of construction.
UA-17 A 9HR Afed F o W& F AR HA: S, S, S, ¥ 1 A 9 F H F1 9w
T2 1 qU1 Wi wA: 1, 2, 3 ¥, @ fag i i
S, +5,=28, [6]
Sums of 1 terms of three arithmetic progressions are S, S,, 8 respectively.

If first term is 1 for every progression and common differences are 1, 2, 3

respectively, then prove that §, +§,=28§,.
| arerar
OR
ota ad T 0 o A A g o o) e e A oy W
%1 31 1 A S | 3 G B F ST 3 9 it

5 years ago, | was three times as old as my son. Ten years hence, I will be

twice as old as my son. Find my present age and my son’s present age.

¥¥i-18 fag #ifwe 5

cost  E0O0°-0) 2c6l{9ﬁ“--9) B

's-cc'(!){}" -8)+1 " coseef -1 Ui [6] .

| __Http://WWW._.cg\boardonlinc.cOm,

WO JUIUOPIBOQTO Mmmm//:diy



WOd dUIUOPIROGSI Mmm//:d)y

http://www.cgboardonline.com
[11]

Prove that

cosf sin(90° —0) _

2cot (90°—6)
sec(90° —8) +1  cosecd —1

3rerar

OR
T TR & T o g = s & TR W 6 WX F g WA g
1= frem R | 60° 1 0 = €1 R I w9 7 i

A tree breaks to storm and the broken part bends so that the top of the tree
touches the ground making an angle 60° with it. The distance between the

- foot of the tree to the point where the top touches the ground is 6 meters.

Find the height of the tree.

oooooooooooooooooooooo
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